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QUESTION 1

When using OpenShift, what is a pre-requisite for converting a single zone cluster into a multi-zone cluster?
A. The cluster must be set up in one of the supported multi-zone locations

B. The cluster must be running on either Virtual Shared or Virtual Dedicated server nodes

C. The cluster configuration must be backed up into an Object Storage bucket in the same zone

D. The cluster must not have any pods active when converted

Correct Answer: A

Reference: https://cloud.ibm.com/docs/openshift?topic=openshift-ha_clusters

QUESTION 2
Which statement about hybrid multicloud is true?
A. It is only used to run sensitive, highly regulated, and mission-critical applications and workloads

B. Management can be done on or off-premises and across multiple providers, using a common set of management
tools chosen by the customer

C. Itis an extension of a single public cloud provider\\'s software and hardware stack to the customer\\'s on-premises
environment so that the exact same stack runs in both locations

D. It is an open standards-based stack that can be deployed on single public cloud infrastructure
Correct Answer: A

Reference: https://www.ibm.com/cloud/learn/hybrid-cloud

QUESTION 3

A customer has decided that they want to deploy their application in the cloud using Red Hat OpenShift. They want
isolated compute resources and by the hour billing. Which machine type should they choose?

A. Virtual Dedicated

B. Virtual Shared

C. Bring Your Own Server
D. Bare Metal

Correct Answer: D

Reference: https://www.ibm.com/cloud/blog/announcements/run-workloads-by-the-hour-with-red-hatopenshift-on-ibm-
cloud
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QUESTION 4

What are two practices for the IBM Garage Method for Cloud? (Choose two.)
A. Discover

B. Think

C. Advise

D. Innovate

E. Manage

Correct Answer: CE

Reference: https://www.ibm.com/cloud/architecture/files/ibm-garage-method-for-cloud-field-guide.pdf

QUESTION 5

Which IBM Garage Method for Cloud practice leverages Enterprise Design Thinking?
A. Envision

B. Culture

C. Learn

D. Reason

Correct Answer: B

Reference: https://www.ibm.com/garage/method/

Latest C1000-083 Dumps  C1000-083 Exam Questions C1000-083 Braindumps

Latest C1000-083 Dumps | C1000-083 Exam Questions | C1000-083 Braindumps 3/3


https://www.pass4itsure.com/c1000-083.html
https://www.pass4itsure.com/c1000-083.html
https://www.pass4itsure.com/c1000-083.html
http://www.tcpdf.org
https://www.pass4itsure.com/c1000-083.html
https://www.pass4itsure.com/c1000-083.html
https://www.pass4itsure.com/c1000-083.html

